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1. [4 marks — 2 each]

Convert:
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For z=3-4i, evaluate:
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[6 marks—1,2,1,1, 1]

If z=4cis (—gj and w=2cis (S%J , determine, in cis form:
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[8marks—1,1,1,1,1,2,1]
Two complex numbers, z and @ are shown on the Argand diagram. Add each of

these to this diagram:
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[8 marks — 1, 1, 1, 2, 3]

For P(z) =z’ —67" +az—10

a)

b)

d)

express P(2) in terms of a

Pla): R $-24 +2o ~1D0 = 2a- 26

determine the remainder, in terms of @, when P(z) is divided by (z - 2)
Lo~ b
evaluate a if P(2) =0:
o= 13
write a polynomial expression for P2)
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find all the roots of P(z)
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